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1. (a) (i) In goods market equilibrium in a closed economy, S+ TA-TR =
I+ G (S =saving, TA =taxes, [ = investment, G = government
expenditure). Use this equation to explain under what condition a

fiscal expansion leads to full crowding out. (2.5)

(ii) Explain how an increase in the price of oil leads to stagflation in

the economy. (5)

(b) What is the impact of the following factors on the Aggregate Demand -

Curve ? Give clear logic for your answers.
(1) A rise in sensitivity of money demand to rate of interest.
(ii) A rise in sensitivity of investment spending to rate of interest.

(ii1) A reduction in the rate of income tax. (2.5x3=7.5)

(c) Explain how an increase in the rate of growth of money supply impacts
the nominal and real rates of interest in the short run and in the medium
run. ' (7.5)

(®) (i) v riaen & a5 - IR @t aFaEen (equilibrium) ¥ S+ TA - TR =
[+G(S=sud, TA= o, [= fRw, G= @&l =4d) | 3@ T &
e ¥ wEey fn e Rufy § woeia wemwr & aRomrass @ el
3 BN | |

(i) o o S ¥ gfe D oRomRT srferaen ¥ fr W RTHRE I B
2, TN |
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afrg |
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(i) Few == <t =w ® @ iy FaeEaa ¥ gfe
(iii) e & R/ A TR

(W) ¥er it mafe < Ife RN g, TEwE T eEw T | = A (nominal)
At T W R WER wefed et ©, dEm

2. (a) (1) Lucas argued that one essential ingredient of painless disinflation
was credibility of monetary policy. Critically discuss his

argument. 4)

(11) According to Arthur Okun, output growth 1% above the normal rate
only leads to a 0.4% reduction in the unemployment rate. Explain
why this kind of relationship exists between growth rate of output

and the unemployment rate. (3.5)

(b) Show using the Aggregate Demand equation and the Lucas supply function
that any predictable part of the money supply has no effect on output,
employment or any other real variable in the economy. What is the effect

of the same on prices ? (5+2.5)

\/ (c) Suppose that the Phillips curve is given by : m, —.nf =0.1 - 2u,
Where 7} =m,_

Suppose that inflation in year t-1 is zero. In year t the authorities decide

to keep the unemployment rate at 4% forever.
(1) Compute the rate of inflation for years t, t+1, t+2. (3)

(i) Now suppose that haif of the workers have indexed labour contracts.
What is the new equation for the Phillips Curve ? What is the effect
of wage indexation on the relation between the rates of inflation

and unemployment ? Explain. (1.5+3)

+ PTO.
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(F) (i) @@a & q& o f& e S < Rvaaiaar, FerRRe (painless) Eedifa
(disinflation) &1 V& 3METE U¢H 2 | 3 O H Aciowen fad=
HiY |

(ii) 3R AFT D AR IENE F Ifg R D 7T T TR A 1% 3w 2 A
WS & R F AT 0.4% T FA Bt B | I H I W T Rowwwd A
W R 4 TH TR & G4 ) BT 2, THIY |

(W) 0 AT AR T DA AT HeAT o T q qEy o qor R s
TdeIa (predictable) AT T Ieare, ATHIR A1 srfeaaen A fordt =1 areafaeh =X
W IS TG TE BT | FAR R TADT FAT YT B B 7

() W i for fefora o Py 20, — 28 = 0.1 - 2y,

%

T =Ty

e AR o 11 X R 1 ¢ e R A w A e S
forr 4% ® & = Folg @ 2

(i) @t t, t+1 T t+2 BY Thfdr T 1 AT AT o

(ii) 3@ AT g fF smd st & s - SR (labour contracts) FEIThH
(indexed) & | fhfo o o1 ar wfaww O 2 7 AAGA & FADIDA
(indexation) &1 TR 7 IATMA A R B T Tl T &1 Y1 Ta1 € 7

GHARY |

3. (a) (i) Show that Adaptive Expectations Hypothesis allows us to

relate unobservable expected variables to observable actual

variables. (2.5)
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(ii) Explain why errors of rational expectations are on average zero.

Comment on the limitations of rational expectations. (2.5+2.5)

(b) (i) According to Friedman, the trade-off between inflation and

unemployment exists only in short run. Explain. (3.5)

(i1) Discuss any two sources of business cycles suggested by Lucas.

(4)

(c) Assume that an economy is in equilibrium in the medium run and
y q

expectations about prices are formed adaptively in this economy such

that P = P_, . Now the government decides to increase the budget deficit.
Using AD-AS and IS-LM diagrams, show the impact on output, prices
and interest rates in the short run and in the medium run. What happens

to the composition of output in the medium run ? (7.5)

(w) (i) =eisg % SrgEmEe weamm gReeaen (adaptive expectations hypothesis)
& 3Weiia (unobservable ) YT =R A Jewia (observable) arEfaw T
A g R B ’

(ii) geaTa wer? (rational expectations) SEET I A Bt B, AT |
FEHETA TSt @t @ (limitations) W el #ife o

@) (i) et D EER iR 7 Noemd @ A TEaE aede ( rade-off)
WY (short run) ¥ § W 1E 2 | AHAY |

(ii) MR TR & T T GAY Y fReEl A Al A =T i |

(1) W AR R v sreferaen Jaw MR (medium run) 1 X @ T I @
W ¥y IeeEEer: (adaptively) 8 YRR S91 W @ f6 P° = P 91,
WHFR q9¢ T & T &l (ol @ 2 1 AD-AS T [S-LM W@ifrat &t e @
ma@aaaﬁﬂaﬁm,aﬁwﬁamaﬁwmmlmaﬁm
W HENET A 1 YIS S B 7
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4. (a) Assume perfect capital mobility, fixed exchange rate and fixed prices.
Using IS-LM diagrams, show the impact of a fiscal expansion on the
output in the short run. Compare this with the impact on output in the

same economy when capital is not mobile. (4+3.5)

(b) Assume an economy with flexible prices and fixed exchange rates and situated
at full employment and trade balance. Suppose there is an exogenous
reduction in the world demand for its goods. Discuss how-this economy can

overcome its current account deficit through (i) Automatic adjustment and

(i) Explicit policy changes. (4+3.5)

(c) (i) Explain the short run and long run effects of a monetary expansion on

the exchange rate under flexible exchange rate system and perfect

capital mobility. (4)

(ii) It is suggested that in the above case the short-run impact may be
more than the long-run impact. Do you agree ? Give economic

reasons for your answer. (3.5)

(%) = e B gon i aifsiier 2, fafeem @ fer @ @om o Rer 81 IS-LM
TERE! & gt A THDGT FER0T & ITIE TR ALH A Bi alet TG ht T9005Y |
TaH o T srfereen ¥ I W I Rufy ¥ 9 A e ¥ A i oot
nferditer =81 & 1

() wiR S T fer e o A wan ot AR T TR w9 R § e
e srefaraeen W faeR @ifse | w0 Sifoig o sae Sl &t aftaes Wi A v S
(exogenous) firrae 3 2 | 78 riegawdn U= oI @ B "R W frfakad @
TR R fore woPR e A 2, Rl AR - (i) e e, J (i) geEe
Aferre uRad= | .
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(@) (i) oien fafe o vonel 7 Ui afasiiel OOt @ s e weRw @ e
W W B A ATHA T TRl WAl 6l THSY |

(i) wer wman 8 fr S Rufy A ARl e Aol wE A s
B R B FA AT T AT A N B 7 I SR g AE HR0
AT |

5. (a) Distinguish between the following exchange rate systems— Adjiistable

Pegs, Crawling Pegs and Managed Floating. (7.5)

(b) Briefly explain how foreign exchange risk leads to a need/opportunity of
hedging and speculation. Find the Covered Interest Arbitrage Margin
when the annual rate of interest in the US is 8% and the annual rate of
interest in India is 6%. The spot rate is INR 1/ 1$ and the three month
forward rate on dollar is INR 0.99/ 1§ on an annual basis. (India: home

country, US: foreign country, INR: Indian Rupee). (5+2.5)

(c) (i) Assume perfect capital mobility, flexible exchange rate and fixed
prices. Let there be an exogenous increase in the rate of interest
abroad. How would this impact the output, and the exchange rate

of the domestic economy ? - (5)

(i1) Under Extended Asset Market Model of exchange rates, how
does increased risk of foreign bonds impact the value of the
domestic currency ? (Only the immediate effect needs to be
considered). ' (2.5)

(=) fFrafofias ffea w wonfedl ¥ R e, Ff : FEerEe e (adjustable
peg), M et ferat (crawling peg) @ @Sl fawa (adjustable peg) !

(@) fRf Rfvm & Wfew & Romress @R 3/ (hedging) T degamt
(speculation) & JETAHAT/ FTER I~ BN &, HAT § FHAZY | AT wAtow¢ foh
AR F A Tt R 8% 2, WRA A Fiffies & W 6% 2 | o R R 1 '

PTO.
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gfy R 2 T A AE A awer A ® 0,99 T 9 SR 2 | R I Y8 W T
FAReT ! fRW A §U oS = S=9UH ¥ (covered interest arbitrage
margin ) &t TUET I |

(1) (i)w@ﬁ?%@qﬁaﬂrﬁsﬂaé,ﬁﬁwam%wﬁﬁﬁmﬁ‘lm
AR & R e = ¥ v T gfe B W 2 | 5ae W srfaEen §
Ieare @ e o W I T 8, W |

(i) FRM oA (bonds) o MR ¥ gfe g Az1 & 7 =l o waEw eIl
o 2, freRa @wafty <ok #ied (extended assets market model ) & 3MER
R GHAEY | (el dicwtiord (immediate) @ W AR SR 1)

; (3000)
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